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1. Overall Description:

RAN3 has discussed solution 1 related to Higher Layer Multi-Connectivity, then RAN3 have discussed the several issues that we would like to consult SA2:

RAN3 has discussed solution 1 related to Higher Layer Multi-Connectivity, then RAN3 have discussed the several issues that we would like to consult SA2:

Q1:

We understand that the value of the RSN parameter is an index that indicates redundant user plane requirements for the PDU Sessions.

Does it mean this index points to a particular UPF and particular RAN User plane pair? Or it is only at the UPF side, i.e. RAN is free to choose the user plane? 

For example, does it mean that always UPF1 has been selected when NG-RAN node receives RSN equals 1 and always UPF2 has been selected when NG-RAN node receives RSN equals 2 (UPF1 used by PDU session with RSN=1 for all pairs subject of redundancy) 

Q2:

TS 23.501 says that “NG RAN notifies CN about failure to establish dual connectivity and SMF based on local policy decides whether to continue with the PDU session or initiate release of the PDU session.” 
If NG-RAN receives PDU session setup for the second PDU session in the indicated RSN is not possible to setup the PDU session in the different NG-RAN node, RAN3 discussed two possibilities in NG-RAN:
Alternative 1: NG-RAN node configures the second PDU session to the same NG-RAN node as the first PDU session (e.g. MN) and notifies it to SMF 
  Alternative 2: NG-RAN shall fail the second PDU session. 
Is alternative 1 allowed? If it is allowed, should SMF further decide whether to continue with the second PDU session or initiate release of the second PDU session?

If alternative 2, how does RAN know the failure to establish the DC for one of the many paired PDU sessions if only RSN index carried? 
Q3:

How does it work if two SMFs are involved? How do the two SMFs coordinate the following? 

(PDU Session 1 and 2 are redundant)

1. RSN settings when the PDU Session1 is setup by SMF 1, and when PDU session 2 is setup by SMF 2;

2. How does SMF1 know which one is PDU session 1 and makes the decision to release or continue the PDU session 1 when NG-RAN notifies SMF2  the failure of PDU Session 2.
2. Actions:

To SA2

ACTION: 

RAN3 kindly asks SA2 to take the above information into account, and provide the feedback on the questions listed above.
3. Date of Next TSG-SA WG2 Meetings:

RAN3 Meeting #105

26 August – 30 August

Ljubljana, Slovenia

RAN3 Meeting #105bis

14 October – 18 October
China

